
Monday 13th July 2020
7 - 1 =
8    3

Word problem

3456 ÷ 100 =126 – (4² ÷ 2) = 

128 416 = _______ +  69 567

476 x 57 = 



Tuesday 14th July 2020
5 - 2 =
6    5

Word problem

2765 ÷ 100 =236 – (9² ÷ 3) = 

132 782 = _______ +  78 419

523 x 48 = 



Wednesday 15th July 2020
7 - 2 =
9    4

Word problem

4067 ÷ 100 =176 – (8² ÷ 4) = 

143 673 = _______ +  69 569

489 x 46 = 



Thursday 16th July 2020
8 - 2 =
10   3

Word problem

5104 ÷ 100 =148 – (10² ÷ 4) = 

126 583 = _______ +  74 219

674 x 39 = 



Friday 16th July 2020
7 - 3 =
6     4

Word problem

8293 ÷ 100 =136 – (12² ÷ 3) = 

133 572= _______ +  87 498

576 x 48 = 


